09/09

“ WITH g&TmNgYSTEM
| mecc alte CERTIFIED BY DNV

i meccalte.com 2POLE

1 PHASE
IP 23
CARATTERISTICHE / CHARACTERISTICS / CARACTERISTIQUES / TECNISCHE MERKMALE / CARACTERISTICAS |
115/230V 50Hz 3000 RPM 120/240V 60Hz 3600RPM
Tipo n \blume d'aria Rumore n Volume d’aria Rumore Peso
Type Air volume Noise Airvolume Noise Weight
Type kVA | 4/4 \blume d’air Bruit kVA 4/4 Volume d’air Bruit Poids J T.H.D.
Luftmenge Gerausch Luftmenge Gerausch | Gewicht
Typ 1pf. | Volumende aire Ruido 1pf. | Volumen de aire Ruido Peso
Tipo
. o m | 1 . oo m | 1 .
% m’/min dé?\ dEr,T:’-\ %o m?*/min d;ﬁ\ dETA Kg Kgm? %
S20FS - 130 8,5 79 4,5 63 81 10,5 79,4 54 65 83 41,7 0,0219 <4
S20FS -160 10 79,2 4,7 63 81 12 79,6 57 65 83 48,7 0,0261 <4
S20F -200 12 80,3 47 63 81 14,4 80,8 57 65 | 83 56,5 0,0306 <4
S20F -230 | 13 | 82,1 4,6 63 | 81 155 | 827 5,6 65 | 83 60 0,0335 | <4

DIMENSIONI D’INGOMBRO / OVERALL DIMENSIONS / ENCOMBREMENT / BAUMASSE / DIMENSIONES MAXIMAS

dimensions in mm.

FORMA FORM FORME B3/B14 FORMA FORM FORME B9/c30

245 578 114 I

199
8 & "
2N - 1092

‘ ! 30, | 16
e * l I@f——n M
o o 4 = T
M0 n.4 E N ° § é “ H 7§
© gle| & nln P2 N 4 1 nln
8 HH 88 - L R g|8
Er ( 29 n.12 = =3 T°°
¢ - o b =
T lenas — STAR I ‘ H
- : e 22 it oy
o202 it — AR ST W D
H
H
TIPO/TYPE| A| B | C D | HI|I |[M|LP TIPOTYPE|B | C | D | H |1 |M]|LP.
S20F 460|400 |325,5| 335,5(|425,5/155|139| YES S20F 400 (325,5(335,5|425,5 (155 [139 | YES
S20FS 420| 360| 285,5/295,5 | 385,5(115| 99 | NO S20FS | 360(285,5(295,5(385,5(115 | 99 | NO
FORMA FORM FORME MD35 FORMA FORM FORME J609b
8
245 B
33;4 5 . 199 = CG.
57.8 114 1
2| ’j Mo T ]
| 300 1 T T 109
(‘_@ @ LP.
" o ) ° 4 I I Soq} L
2 H R R 3 2 502 m§ 2
& =) G 88 — ) i [ e
# H o oft nt |y = i om EX]
<50 2 o Q
T M n.2 T oaoo-swr-ecrou-mrren ! §
w0 | BEREET o gw) g
RTEuTE, |, D 3
CENTRO DI GRAVITA ul ‘:’
GRAVITY/CENTER w
CENTRE DE GRAVITE’ C G
SCHWERPUNKT FORMA
SAEN GIUNTI A DISCO - DISC COUPLING - ACC. DISQUE CENTROS DE GRAVEDAD FORM
: L d Q1 |n.fori| 51| al CENTRO DI GRAVITA" FORMA | S20FS | S20F FORME E F G
GRAVITY/CENTER X FORM
612 [ 3022159 | 200 | 6 |9 |60 | |@meoawme (G FORME | 130 | 160 | 200] 230 2146 | 2165 | 0192
71/2 | 30,2 | 2413 [22225] 8 | 9 | 45° CENTROS DE SRAVEDRD J609b | 217 [ 210 [220 (235 J609b | 21636 196.85| 6216
2196,85| o
FFOORR'Y\I/IA S20FS | S20F B9/c30 |217 |210 (220|235 2177,8
TIPO/TYPE| B C D H I | M |LP.||FORME| 130 | 160 | 200 | 230
S20F 444 (325,5(335,5(469,5 [ 199 183 | YES || MD35 | 251 | 244 | 254 | 269 ®
S20FS  |404 |285,5(295,5|429,5(159 |143| NO [ B3/B14 | 215 | 208 | 218 | 233 (o Us ©

INSULATION SYSTEM
Valid only for
S20FS-130,-160, S20F-200



ELENCO PARTI DI RICAMBIO / LIST OF SPARE PARTS /LISTE DES PIECES DETACHEES
ERSATZTEILLISTE / LISTA PARTES DE REPUESTO

N DENOMINAZIONE NAVE DESIGNATION NAMEN DENOMINACION CODICE-CODE
1 [CHUSURA POSTERIORE REAR SEAL TOLE DE FERMETURE ARRERE  |HINTERER DECKEL (IERRE POSTERIOR 0390700011
1 |CUFAA TERMINAL BOX LID COUVERCLE DECKEL TAPA 0390501015
5 |MORSETTIERA UTLIZZAZIONE 56x36 | TERMINAL BOARD 56x36 PLANCHETTE A" BORNES 56x36  |KLEMMBRETT PLACA DE BORNES 9909915060

8 |CARCASSA CON STATORE FRAME AND STATOR CARCASSE AVEC STATOR GEHAUSE MT STATOR CARCASA CON ESTATOR -

COPERCHIO FORMA MD35 DRIVE END BRACKET MD35 FLASQUE MD35 FLANSCH MD35 BRIDA MD35 -

9 |COPERCHIO FORMA B9 DRIVE END BRACKET B9 FLASQUE B9 FLANSCH B9 BRIDA B9 -
(OPERCHIO FORMA Bté DRIVE END BRACKET B14 FLASQUE Bt4 FLANSCH Bl BRIDA B4 0391700143

4 [INDUTTORE ROTANTE ROTOR ASSY INDUCTEUR TOURNANT ROTIERENDER INDUKTOR INDUCTOR ROTANTE -
15 |VENTOLA FAN VENTILATEUR LUFTER VENTILADOR 0392000033
7 [CUSCINETTO ANTERIORE 6306-2RS | FRONT BEARNG 6306-2RS ROULEMENT AVANT 6306-2RS | VORDERES LAGER 6306-2RS COJNETE DELANTERO 6306-2RS {0390302532
9 |CUSCINETTO POSTERIORE 6205-2RS [REAR BEARNG 6205-2RS ROULEMENT ARRIERE 6203-2RS |HNTERES LAGER 6205-2RS COJNETE POSTERIOR 6203-2RS | 0390302511
26 {DIODO DIODE DIODE DIODE DIODO 9910356050
27 |VARISTORE VARISTOR VARISTOR VARSTOR VARISTOR 9910384005

29 | TIRANTE (ENTRALE SECURING STUD TIGE CENTRALE ZENTRERSSTFT TIRANTE CENTRAL -
39 [RETINA DI PROTEZIONE PROTECTION SCREEN GRILLE DE PROTECTION SCHUTZGITTER REJLLA DE PROTECCION 0390700009
40 [ ANELLO COMPENSATORE (M0D. BN 35¢23) [FIXING RING (MOD. AN BN 35%23) (RONDELLE DE BLOQUAGEMOD. BN 35+23) |KOMPENSATOR RNG (MOD. BN 35x23) | ANLLO COMPENSADORES (0D. BN 35231 | 0390100211

65 CONDENSATORE CAPACITOR (ONDENSATEUR KONDENSATOR CONDENSADOR -
75 | GOMMINO PASSACAVO RUBBER GROMMET PASSE-CABLES EN CAOUTCHOUC |GUMM AUGE GOMA PASACABLES 9909509081
107{TAPPO PER CUFFIA POSTERIORE  [SECURNG STUD CUP BOUCHON POUR CAPOT ARRIERE |STOPSEL FR HNTERES KLEMKASTENDECIEL | GOMA PARA TAPA POSTERIOR | 9909505006
161|GOMMNO RUBBER-CUP (APOUCHON DE FERMETURE: EN PLASTIOLE | SCHLUSSGUMM GOMA DE CERRE 0390700306

N.B. Nella richiesta di pezzi di ricambio specificare il tipo e il codice dell'alternatore.
When requesting spare parts always indicate the alternator’s type and code.
Pour toute demande de piéces detachees, priére de mentionner le type et le code de I'alternateur.
Bei Ersatzteilbestellung bitte immer die Teilbenennung den Typ und den code des Wechselstromgenerators angeben.
En cada pedido de piezas de recambio especificar siembre el tipo y el codigo del alternador.





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /None
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /None
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /None
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /ENU ([Based on 'altaok_3mm_1.4'] [Based on '[High Quality Print]'] Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks true
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        8.503940
        8.503940
        8.503940
        8.503940
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 8.503940
      /MarksWeight 0.125000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


